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H2 [#RHIE] 0.680
< hl [#EH| 0.220
h | 0.460
( 1.2 m %H7=0#E)
P PR iR N EE S 7 " = ==XV I =+
W oE T ek WE 0.60 X 0.680 X 1.2 m? 0.5
HWDRELL RC-40
O RLT. il 0.60 X 0.220 X 1.2 m® 0.2
HHRLT w ( 0.60 X 0.460 — 0.060 2 X x,/4)x 1.2 m? 0.3
PRH) & Wi R
B sy e+ 0.50 — 0.20 =+ 0.9 m? 0.3
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T % & X

+Taq7° 3-1 BIEHE As DCIP(GX) ¢ 200 DP=0.90m
+THEE L= 14.0 = 14.0 m
< w >
BEERAs t=10cm fEEl | R REIE B4ZHiAs t=5cm
(=]
2 N . P 3
!
‘ | BT ]
| RC-40 2
: A
I
E W | $#HIIE[  0.600
a i D1 |4 %] 0.220
= og ° HWHIEEI R - DP_| 149 [ 0.900
i RC-40 = Hi | $mie 1120
i H2 | #EHIE| 1.020
=:ES hl [HEM| 0.300
vt v b | # ] 0.520
i st
[sel
A
E =
—]E
Oy v
( 14.0 m 470HE)
P PR NI RES 7 B = ==XV I =+
e BT T As, t=15ecmPL T 2.00 X 14.0 m 28.0
AL RO T As, t=10emLL T 0.60 X 14.0 . 8.4
il T ek L 0.60 X 1.020 X 14.0 m® 8.6
HH LT RC-40 0.60 X 0.300 X 14.0 m? 2.5
HHRLT ilai e
M RLT T ( 0.60 X 0520 — 0220 % X 7,/4)X 14.0 m® 3.8
PRH) & Wi R
5y WE L 860 — 000 <+ 0.9 m? 8.6
FRB AR As 0.60 X 0.10 X 14.0 m? 0.8
PRIy 2 As m? 0.8
TH VRIS - L5 T 0.023 X 0.10 X 28.0 m? 0.06
% A T RC-40, t=25cm 0.60 X 14.0 m? 8.4
AR B As(13) ‘
FAEIHT t=5cm 0.60 X 14.0 m? 8.4
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T % & X

+Taq7° 3-2 BIEHE As DCIP(GX) ¢ 200 DP=1.20m
+ TR L= 3.0 = 3.0 m
< w >
BEsgAs t=10cm 1EEl | BE {R#EIA B4 HAs t=5cm
(=]
2 N . P 3
]
‘ | BT ]
| RC-40 o
: A
I
E W | $#HIIE[  0.600
a i D1 |4 %] 0.220
= og ° HWHIEEI R - DP_| 49 [ 1.200
i RC-40 = Hi | $imiie 1.420
i H2 | #RHIE| 1.320
=:ES hl [HEM| 0.600
vt v b | # ] 0.520
i st
[sel
A
E =
—]E
Oy v
( 3.0 m M7EVEE)
P PR NI RES 7 B = ==XV I =+
e BT T As, t=15ecmPL T 2.00 X 3.0 m 6.0
A IREUE T As, t=10cmLL F 0.60 X 3.0 o 18
il T ek BE 0.60 X 1.320 X 3.0 m® 9.4
HHRELT RC-40 0.60 X 0.600 X 3.0 m? 1.1
HORLT i
M RLT T ( 0.60 X 0520 — 0220 2 X x7,/4)X 3.0 m® 0.8
PRH) & Wi R
sy wWHE+ 240 — 0.00 <+ 0.9 m? 2.4
FEOALEE As 0.60 X 0.10 X 3.0 m 0.2
PRIy 2 As m? 0.2
TH VRIS - L5 T 0.023 X 0.10 X 6.0 m? 0.01
B T RC-40, t=25cm 0.60 X 3.0 m? 1.8
AR B As(13) ‘
R T t=5cm 0.60 X 3.0 m? 1.8
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T % & X

+Taq7° 3-3 BIEHE As HPE ¢ 75 DP=0.90m
+THEE L= 18.0 = 18.0 m
< w >
BEE%As t=10cm fEEl | R REIE B4ZHiAs t=5cm
(=]
2 N . P 3
]
‘ | BT )
| RC-40 o
: A
!
i W | $#HIIE[  0.600
a i D1 _|%#4%] 0.090
= og ° HWHIEEI R - DP_| 149 [ 0.900
i RC-40 < H1 [ 1.090
i H2 | #EHIE| 0.990
=:ES hl [HEM| 0.300
vt v b | # ] 0.490
i st
[sel
A
E =
—gf
OV A 4
( 18.0 m 470 E)
P PR NI RES 7 B = ==XV I =+
e BT T As, t=15ecmPL T 2.00 X 18.0 m 36.0
AL RO T As, t=10emLL T 0.60 X 18.0 . 10.8
W oE T Mok Y 1 0.60 X 0.990 X 18.0 m? 10.7
HHRELT RC-40 0.60 X 0.300 X 18.0 m? 3.2
HHRLT ilai e
D REL T w ( 0.60 X 0.490 — 0.090 > X x4 )X 18.0 m? 5.2
PRH) & Wi R
sy N 1070 — 0.00 =+ 0.9 m’ 10.7
FRB AR As 0.60 X 0.10 X 18.0 m? 11
Py As m? 1.1
TH VRIS - L5 T 0.023 X 0.10 X 36.0 m? 0.08
3% A T RC-40, t=25cm 0.60 X 18.0 m? 10.8
AR B As(13) ‘
FEIRL t=5cm 0.60 X 18.0 m? 10.8
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T % & X

+Taq7° 3-4 BIEHE As PP ¢ 25 DP=0.65m
+ TR L= 416 +9.2 = 50.8 m
< w >
BE%As t=10cm 1EEl | BE {R#EIA B4 HAs t=5cm
(=]
= N . P 3
]
‘ | BT o)
| RC-40 o
: A
I
E W | $#HIIE[  0.600
a i D1 || 0.034
= og ° HWHIEEI R - DP_| £49 [ 0650
i RC-40 = HI | $miie 0.784
i H2 | #RHIE| 0.684
=:ES hl [HEM| 0.050
vt v b | # ] 0.434
i st
[sel
A
E =
—
OV v
( 50.8 m MHDEE)
P PR NI RES 7 B = ==XV I =+
EEEDIE T As, t=15emd T 2.00 X 508 m 101.6
AL RO T As, t=10emLL T 0.60 X 50.8 . 30.5
oy T etk WE 1+ 0.60 X 0.684 X 50.8 m? 20.8
HHRELT. RC-40 0.60 X 0.050 X 50.8 m? 1.5
HORLT i
HHRLT w ( 060 X 0.434 — 0.034 > X x,/4)x 508 m? 13.2
WEIER R
sy N 20.80 — 0.00 <+ 0.9 m’ 20.8
FEOALEE As 0.60 X 0.10 X 50.8 m 30
PRIy 2 As m? 3.0
TH VRIS - L5 T 0.023 X 0.10 X 101.6 m? 0.23
% A T RC-40, t=25cm 0.60 X 50.8 m? 30.5
AR B As(13) ‘
FEIRL t=5cm 0.60 X 50.8 m? 30.5
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T % & X

+Ta47° 4-1 FHHEIZNE  As DCIP(GX) ¢ 200 DP=0.90m

TR L= 1.7 +81.5 +20.8 +1.7 = 105.7 m

A :
3 !
W__|#EHIE] 0.600
a D1 |4 %] 0.220
= = DP | t#k0 | 0.900
H1 [ #mEIE] 1.120
H2 | #EHIE| 0.990
£ hl | HEH| 0.470
h | # & 0.520
( 105.7 m N70EE)
4 i NI RES 7 B = HAi] & =
o T etk WYE 0.60 X 0.990 X 105.7 m’ 62.8
HH LT RC-40
HH LT AL 0.60 X 0.470 X 105.7 m? 29.8
HORELT w ( 0.60 X 0520 — 0.220 2 X x/4)x 1057 |m® 29.0
WEIER R
sy N 62.80 — 29.80 <+ 0.9 m’ 29.7
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T % & X

+Ta47° 4-2 FHHEIZNE  As DCIP(GX) ¢ 200 DP=1.20m

TR L= 18.6 = 18.6 m

A :
3 i
W__|#EHIE] 0.600
a D1 |&SME[ 0.220
= = DP | t#kw | 1.200
H1 | FREIE[ 1.420
H2 [#RHIE] 1.290
< hl [#EH| 0.770
h &l 0.520
( 18.6 m 470 E)
P PR NI RES 7 B = ==XV I =+
o T etk WYE 0.60 X 1.290 X 18.6 m’ 14.4
HH LT RC-40
HORLT it 0.60 X 0.770 X 18.6 m? 8.6
HHRLT w ( 060 X 0520 — 0220 2 X x,/4)X 186 m® 5.1
W RE
B sy W+ 1440 — 8.60 =+ 0.9 m? 4.8
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+ T ¥ & %
+Ta7 4-3 FHEANE  As DCIP(GX) ¢ 100 DP=0.90m
+ TR L= 0.6 = 0.6 m
. |
W | $#HIIE[  0.600
a D1 |&SME| 0.118
= = DP | t#k0 | 0.900
H1 |#EEIE[ 1.018
H2 [#RHIE] 0.888
N hl | HLERS] 0.470
h W m| 0.418
( 0.6 m Y7-0E&E)
P PR iR N EE S 7 B = ==XV I =+
W oE T ek g+ 0.60 X 0.888 X 0.6 m? 0.3
HWDRELL RC-40
O RLT. il 0.60 X 0.470 X 0.6 m® 0.2
HHRLT w ( 060 X 0418 — 0118 2 X x4 )X 0.6 m? 0.1
PRH) & Wi R
B sy e+ 0.30 — 0.20 <+ 0.9 m? 0.1
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+ T %% & £
+Ta7 4-4 FHEANE  As DCIP(GX) ¢ 75 DP=0.90m
+ TR L= 0.8 = 0.8 m
. |
W | $#HIIE[  0.600
a D1 |&SME| 0.093
= = DP | t#k0 | 0.900
H1 |#EEIE[ 0.993
H2 [#RHIE] 0.863
N hl | HLERS] 0.470
h &l 0.393
( 0.8 m Y7-0E&E)
P PR iR N EE S 7 " = ==XV I =+
W oE T ek WE 0.60 X 0.863 X 0.8 m? 0.4
HWDRELL RC-40
O RLT. il 0.60 X 0470 X 08 m® 0.2
D REL T w ( 060 X 0.393 — 0.093 2 X x,/4)x 0.8 m? 0.2
WEERE AR
B sy e+ 0.40 — 0.20 <+ 0.9 m? 0.2
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T % & X

+Th47° 4-5 HEHE As PP ¢ 50 DP=0.90m
+ TR L= 3.0 = 3.0 m
3 i
W__|#EHIE] 0.600
a D1 |&E4ME| 0.060
= = DP | t#k0 | 0.900
H1 |#EEIE] 1.060
H2 [#RHIE] 0.930
£ hl | HEH| 0.470
h | 0.460
( 3.0 m M7EVEE)
P PR iR N EE S 7 B = ==XV I =+
o T etk WYE 0.60 X 0.930 X 3.0 m’ 1.7
HH LT RC-40
O RLT. il 0.60 X 0.470 X 3.0 m® 0.8
HHRLT b ( 060 X 0.460 — 0.060 > X 7x,/4)x 3.0 m? 0.8
WEERE AR
B sy e+ .70 — 080 = 0.9 m? 0.8
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T % & X

+ 1447 4-6 HEHE As PP ¢ 25 DP=0.65m
+ TR L= 1.5 = 1.6 m
2 |
W | $#HIIE[  0.600
a D1 |ESME[ 0.034
= = DP | L0 | 0.650
H1 | JREIE[ 0.784
H2 [#RHIE] 0.654
£ hl || 0.220
h W E| 0.434
( 1.5 m %7=0#E)
P PR iR N EE S 7 " = ==XV I =+
W oE T ek g+ 0.60 X 0.654 X 1.5 m? 0.6
HWDRELL RC-40
O RL L At 0.60 X 0.220 X 1.5 m® 0.2
HWDRELL w ( 0.60 X 0434 — 0.034 2 X z,/4)xX 15 m? 0.4
WEERE AR
B sy e+ 0.60 — 0.20 = 0.9 m? 0.4
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T % & X

+Taq7° 5-1 BIEHE As PP ¢ 25 DP=0.65m
+ TR L= 624 = 62.4 m
< w >
BES%As t=4cm 1EEl | BR {R#EIA BEAEZEHAs t=3cm
e N . P S
!
‘ | BT )
! RC-40 8
: 3
I
: W[ #EHItE] 0.600
a i D1 || 0.034
= og ° WHIEE ERM - pp_| 140 [ 0.650
i WAL = H1 | #misiE] 0.784
i H2 | #RHIE| 0.744
GBI hl [#ER| 0.220
vt \ b | # ] 0.434
1 8‘
[sel
A
E =
—g
OV A
( 62.4 m HVEE)
P PR NI RES 7 B = ==XV I =+
EEEDIE T As, t=15emd T 200 X 624 m 124.8
AL RO T As, t=10emLL T 0.60 X 62.4 . 374
o T etk WYE 0.60 X 0.744 X 62.4 m’ 27.9
H»RLT RC-40
HORLT it 0.60 X 0.220 X 62.4 m? 8.2
HHRLT w ( 060 X 0434 — 0.034 2 X x,/4)X 624 m? 16.2
WEIER R
sy N 2790 — 820 + 0.9 m’ 18.8
FRB AR As 0.60 X 0.04 X 62.4 m? 1.5
Py As m? 1.5
TH VRIS - L5 T 0.023 X 0.04 X 124.8 m? 0.11
A T RC-40, t=16cm 0.60 X 62.4 m? 37.4
AR B As(13) ‘
FEIRL t=3cm 0.60 X 62.4 m? 37.4
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T % & X

+Taq7° 5-2 BIEHE As PP ¢ 13 DP=0.65m
+ TR = 0.5 = 0.5 m
< w >
BEE%As t=dcm Rl | BE REIE B4ZEHiAs t=3cm
e N . Y 8
!
i | BT )
! RC-40 8
: A
i
i W | $#HIIE[  0.600
a i D1 |48 0.022
= og ° HWHIEEI R - DP_| £49 [ 0650
i WAL = H1 |#mingE] 0.772
i H2 | #RHIE| 0.732
IR hl [HEM]| 0.220
=t v b | # ] 0.422
i st
[sel
A
E =
—f
OV A 4
( 0.5 m %7-0E&E)
P i NI RES 7 B = HAi] & =
e BT T As, t=15ecmPL T 2.00 X 0.5 m 1.0
ARSI T As, t=10cmLh T 060 X 0.5 m? 0.3
il T ek BE 0.60 X 0.732 X 0.5 m® 0.2
HORLT RC-40
O RL L At 0.60 X 0.220 X 0.5 m® 0.1
M RLT T ( 060 X 0422 — 0.022 2 X x,/4)X 0.5 m? 0.1
R A
5y WE L 020 — 0.10 =+ 0.9 m? 0.1
FRBRALER As 0.60 X 0.04 X 05 m? 0.0
PRIy 2 As m® 0.0
TGRS - 4055 T 0.023 X 0.04 X 1.0 m? 0.00
A% RC-40, t=16cm 0.60 X 0.5 m? 03
AR B As(13) ‘
R T t=3cm 0.60 X 0.5 m? 0.3
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PP $20 &t 9755

g 1 Je OB K

4 R BSikics BB |
[&#r]

RYzFL 4% ¢ 25 0.5 0.5 m

RVZFLUE 620 62.6 62.6 | m

AVZFL 4 $13 3.9 3.9 m

PP /LR ¢ 20 3 3 &l

PPT/L7R 613 1 1 il

PPF—X 620X ¢ 13 1 1 &

PPREEY ¢ 25X ¢ 20 1 1 1

PPELERY b 620X ¢ 13 1 1 &l

PVY Aok ¢ 13 2 2 il

IR ¢ 20 60.1 60.1 m

PRIR T 613 0.5 0.5 m

[95%]

Rz FL BT ¢ 25 0.5 0.5 m

ARYVTF L AT ¢ 20 62.6 62.6 | m

RYTF L ST $13 3.9 3.9 m
e F—R Yok REYrob

PPHET: T 625 + + 1 1 m]
e F—R Yok REYrob

PPt T ¢ 20 6 + 2 + 2 10 =
=R F—=X Vhob BETob

PPk T ¢ 13 2 o+ 1 4 o+ 1 8 =]

AVTF LB HET ¢ 25 0.5 0.5 m

RV F L EHEET ¢ 20 62.6 62.6 | m

RV F L ERET ¢ 13 3.9 3.9 m

b 25 $ 20 $ 13
sy # BESIAF v 0.5 % 0.788 62.6 * 0.595 + 3.9 x 0.184 38 kg
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+TTHEHEE

T T 2A7 Aratice (B RREHE

4 B i /NI B -1 | k-1 | k-2 | fak1-2

CGHERIE) | (ER) | GREREE) | (iR
HHAE O T As, t=15ecmLA F 1.0 2.6 3.6 | m 4
SRR T | As, t=10embA F 0.3 0.3 0.8 0.8 2.2 | m* 2
P T Btk W 1 0.2 0.2 0.5 0.5 1.4 | m’ 1
HHHL T RC-40 0.2 0.2 0.4 0.4 1.2 | m® 1
D LT i H + m’
MO RLT > m’
s, AYa) E+ 0.20 0.2 0.50 0.5 1.4 | m® 1
ST 0.20 0.2 0.50 0.5 1.4 | m® 1
PSR AR As 0.01 0.01 0.03 0.02 0.07 | m® 0.07
FRSBA # As 0.01 0.01 0.03 0.02 0.07 | m® 0.07
V5 VRS - ALy T 0.001 0.002 0.003 [ m* | 0.003
AT RC-40, t=16cm 0.3 0.3 0.8 0.8 2.2 | m* 2
RiEIH T FAEZEREAS(13) t=3cm 0.3 0.3 0.8 0.8 2.2 | m* 2
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T % & X

+TH477 | % 1-1 THEHEE As PP ¢ 25 DP=0.65m
+ TR = = 0.5 m
(B EREF)
< w >
BES%As t=dom 1EEl | BR {R#EIA BEAEZEHAs t=3cm
g 'y P 8
!
i | pAET o
| RC-40 S
i
I
E W | $#HIIE[  0.600
a i D1 || 0.034
= og ° HWHIEEI R - DP_| £49 [ 0650
i RC-40 < H1 [ 0.684
i H2 | #RHIE| 0.644
i hl [HEEH| 0.554
| [
i
| A
A 4 y : S
RERE oD
( 0.5 m %7-0E&E)
P PR NI RES 7 B = HAi] & =
e BT T As, t=15ecmPL T 2.00 X 0.5 m 1.0
A IREUE T As, t=10cmLL F 0.60 X 0.5 o 0.3
il T ek BE 0.60 X 0.644 X 0.5 m® 0.2
D RELT RC-40 ( 060 X 0554 — 0.034 > X x,/4)X 0.5 m? 0.2
HORLT i
HHRLT w
PRH) & Wi R
sy wE+ 0.20 — = 0.9 m? 0.20
Vo s As 060 X 0.04 X 0.5 m’ 0.01
Py 2 As m? 0.01
TH VRIS - L5 T 0.023 X 0.04 X 1.0 m® | 0.001
A T RC-40, t=16cm 0.60 X 0.5 m? 0.3
AR B As(13) ‘
R T t=3cm 0.60 X 0.5 m? 0.3
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T % & X

+TH477 | % 1-1 THEHEE As PP ¢ 13 DP=0.65m
+ TR L= = 0.5 m
(AR
< w >
BES%As t=3cm 1EEl | BR {R#EIA BEAEZEHAs t=3cm
8 'y P 8
!
‘ | BiET ]
| RC-40 S
|
i A
i W | $#HIIE[  0.600
a i D1 |48 0.022
= og ° HWHIEEI R - DP_| £49 [ 0650
i RC-40 = Hi | #miie 0.672
i H2 | #RHIE| 0.642
i hl [HEM| 0.542
i [
i
C 7y
i =
A 4 vy |
]
i
RERE HD
( 0.5 m %7-0E&E)
P PR NI RES 7 B = ==XV I =+
SR T As, t=15cmPAF
A IREUE T As, t=10cmLL F 0.60 X 0.5 o 0.3
I OHl T B et ( 060 X 0.642 — 0.022 > X x,/4)X 0.5 m? 0.2
HH LT RC-40 0.60 X 0.542 X 0.5 m? 0.2
HORLT i
HHRLT w
WEIER R
sy wWHE+ 0.20 — = 0.9 m? 0.2
Vo s As 060 X 0.03 X 0.5 m’ 0.01
TR B As m? 0.01
TG IRIER - L5 T
A T RC-40, t=16cm 0.60 X 0.5 m? 0.3
AR B As(13)
R T t=3cm 0.60 X 0.5 m? 0.3
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T % & X

+TH477 | A% 1-2 THEHEE As PP ¢ 20 DP=0.65m
+ TIER = = 1.3 m
(B EREF)
< w >
BES%As t=dom 1EEl | BR {R#EIA BEAEZEHAs t=3cm
g 'y P 8
!
i | pAET o
| RC-40 S
i
I
E W | $#HIIE[  0.600
a i D1 |48 0.027
= og ° HWHIEEI R - DP_| £49 [ 0650
i RC-40 < H1  [#miE] 0.677
i H2 | #RHIE| 0.637
i hl [HEM| 0.547
| [
i
| A
A 4 y : S
RERE oD
( 1.3 m %7=0#E)
P i NI RES 7 B = HAi] & =
e BT T As, t=15ecmPL T 2.00 X 1.3 m 2.6
A IREUE T As, t=10cmLL F 0.60 X 1.3 o 0.8
il T ek BE 0.60 X 0.637 X 1.3 m® 0.5
D RELT RC-40 ( 060 X 0547 — 0.027 > X x,/4)x 1.3 m? 0.4
HORLT i
HHRLT w
PRH) & Wi R
sy wE+ 0.50 — = 0.9 m? 0.50
Vo s As 060 X 0.04 X 1.3 m’ 0.03
Py 2 As m? 0.03
TH VRIS - L5 T 0.023 X 0.04 X 26 m® |  0.002
A T RC-40, t=16cm 0.60 X 1.3 m? 0.8
AR B As(13) ‘
R T t=3cm 0.60 X 1.3 m? 0.8
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+ T %% & £
+TH477 | A% 1-2 THEHEE As PP ¢ 20 DP=0.65m
+ TIER = = 1.3 m
(AR
< w >
BES%As t=3cm 1EEl | BR {REIH EEZHAs t=3cm
8 N e 8
|
‘ | BiET ]
| RC-40 S
i
i A
i W | $#HIIE[  0.600
a i D1 |48 0.027
= og ° HWHIEEI R - DP_| £49 [ 0650
i RC-40 < H1  [#miE] 0.677
i H2 | #RHIE| 0.647
i hl [HEM| 0.547
| [
i
C 7y
i =
A 4 vy |
(
i
RERE HD
( 1.3 m %7=0#E)
P PR NI RES 7 B = ==XV I =+
SR T As, t=15cmPAF
A IREUE T As, t=10cmLL F 0.60 X 1.3 o 0.8
8 Hl T B mE L ( 060 X 0.647 — 0.027 * X 7,/4)X 1.3 m 0.5
HHRELT RC-40 0.60 X 0547 X 1.3 m? 0.4
HORLT i
HHRLT w
WEIER R
sy wWHE+ 0.50 — +~ 0.9 m? 0.5
Vo s As 060 X 0.03 X 1.3 m’ 0.02
BB T As m? 0.02
TG IRIER - L5 T
A T RC-40, t=16cm 0.60 X 1.3 m? 0.8
AR B As(13)
IR T t=3cm 0.60 X 1.3 m? 0.8

41




